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01) Two resistances R, and R, are made of

different materials. The temperature coefficient of
the material of R; is o and of the material of R, is

-p . The resistance of the series combination of R,
and R, will not change with temperature, if
R, /R, equals

) P 2) o+
o of
3) Z“_LE ) &

02) At a pressure of 24x10° dyne/cm?, the
volume of O, is 10 litre and mass is 20 gm. The r.

m. s. velocity will be
1) 400 m/s
3) 800 m/s

2) 600 m/s
4) Data is incomplete.

03) A hollow sphere of volume V is floating on/"
water surface with half immersed in it. What
should be the minimum volume of water pour
inside the sphere so that the sphere now sinks*
the water?

1) V/4 2)V/3
3)v/2 4HVv

04) As per this diagram a point chargﬁ placed

at the origin O. Work done in taking er point

charge -Q from the point A [co-or s (0,a)] to
another point B [co-ordinates gfa,0)] along the
straight path AB is

Y
A ),

S

%

05) An electric dipole consisting of two opposite
charges of 2x107°C each separated by a distance

of 3 cm is placed in an electric field of 2x10° N/C.
The maximum torque on the dipole will be

1) 24x10°3 Nm 2) 24x10°'Nm
3) 12x10° Nm 4) 12x10°' Nm

ed- 1 1) 1.2x10% J

06) A particle in S. H. M. iStdescribed by the
displacement function x(tl‘}%‘%é%os(mt+ 0). If the
initial (t=0) position of th%‘:p%rﬁcle is 1 cm and its
initial velocity is mcm / Sg;;si%ﬁ;ﬁé‘angular frequency of
the particle is n rad / s, then it's amplitude is

1) 2.5¢cm ,&Q&% cm

3) V2 cm wd) 1 cm

07) The velocity.of-a freely falling body changes as
gPh?, where g%s atceleration due to gravity and h
is the heightf. The values of p and q are

1
1) 1,1 3 2) 1:7
;1 2
1 ‘ ] 1
3) -, 4) -2—,1

e between 227°C and 127°C. It absorbs 6 x
.0* J at high temperature. The amount of heat
¢onverted into work is

;8) z,ideal gas heat engine operates in a Carnot's

2) 1.6x10* J

3) 3.5x10* J 4) 4.8x10* J

09) For the Bohr's first orbit of circumference 2nr,
the de-Broglie wavelength of revolving electron will
be

1j -t 9)
4nr 2nr
3) nr 4) 2nr

10) Statement 1 : A gas can be liquified at any
temperature by increasing the pressure alone.
Statement 2 On increasing pressure the
temperature of gas decreases.

1) Both statement 1 and statement 2 are true and
the statement 2 is the correct explanation of the
statement 1.

2) Both statement 1 and statement 2 are true but
statement 2 is not the correct explanation of the
statement 1.

3) Statement 1 is true but statement 2 is false.

4) The statement 1 and statement 2 both are false.

11) A car having a mass of 1000 kg is moving at a
speed of 30 m/s. Brakes are applied to bring the
car to rest. If the frictional force between the tyres
and the road surface is 5000 newtons, the car will
come to rest in
1) S seconds
3) 10 seconds

2) 6 seconds
4) 12 seconds







